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PART A: Vocabulary

Directions: Choose tite word or phrase (1), (2), (3), or (4) that best completes each |
| sentence. Then mark the answer on your answer sheet. _

I-  You’d better check out the ---——-—- before deciding whether to go to a nearby college.
1) components 2) foundations 3) reflections ~ 4) alternatives

2-  The workers have still not been -----mneve- - for their loss of wages.

1) perceived 2) established 3)compensated ~ 4) maintained -
3- By the age of twenty, she had already - fame and weazalth.

1} achieved 2) confined 3) compiled ~ 4)restored
4-  In all parts of the U.S. there is «~—veermuaee rainfall except near the rocky mountains.

1) suitable 2) acceptable 3) adequate - 4) widespread
5- Health education programs are starting to -=-=--escee—- people’s eating habits.

1) deviate ~ 2)influence 3) implement 4) fluctuate

6-  Witsky’s article describes the authority of a leader’s behavior.

1} dimension 2) resolution 3) conformity 4} consequence
7- The government will examine the advan tanes of the ----- teaching methods used in

schools. | |

1) discrete -2) various 3) adjacent - 4) incompatible
8- Clouds can be into family groupings according to their height and shape.

1) specified | 2) registered 3) classified 4) distributed

'9- 1 was amazed at Sam’s lack of - about singing in public,

1) inhibition - 2) simulation 3} manipulation = 4) contradiction
10- Freud was very interested in the «~-wa-—ee-- of people’s dreams.

1) regulation 2) coordination 3) intervention 4) interpretation

| PART B: Grammar

i Directions: Read Ihe following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then niark the correct r:hmcea 1 your answer sheet.

A little more than a hundred years ago, a number of European scholars began to record stones

(11) ==--==—==- told in peasant cottages and compile them (12) ------------ the first great collections of
European folk tales. (13) ----------- evidence exists to prove that the folk tales they recorded existed
long before then, (14) -eecaveaes . Collections of sermons from the 12th to the 15th century show that
medieval preachers knew of some of the same stories {15) ----------- by the 19th century folklorists.

11- 1) that 2) were 3} which 4) being

12- 1) for 2} 1nto 3) from 4) within

13- 1) To write 2) Wnitten 3) They wrote -4) Writing

14- 1)yet 2) 100 3) though 4) perhaps

15- 1)for being recorded  2) Iike those 3) as recorded 4) as those recorded
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Directions: Read the following three passage and choose the best choice (1), 2), (3), or (4).
Then mark it your answer sheet.

The Earth's surface consists of a series of tectonic plates, with each plate consisting of the crust and
the more rigid part of the upper mantle, termed the lithosphere. The tithosphere contains all the world's
earthquakes, and it is underlain by a weaker zone called the asthenosphere, with the lithosphere-
asthenosphere boundary controlled by temperature. The asthenosphere is solid, but it yields by hot
creep, allowing solid-state flow that compensates for the lithospheric plates, The lithosphere may be
more than 100 kilometers thick beneath older continental and oceanic regions, but it is only a few
kilometers thick beneath mid-ocean ridges, where it first forms. Lithospheric plates are in motion with
respect to one another, and the disruption produced at the boundaries between plates results in
earthquakes. Mid-ocean spreading ridges are formed by the upwelling of hot magma that cools and
solidifies as lithospheric plates move away from the ridge crest, and newly-formed oceanic crust is
carried down the flanks of the ridge. The history of floor spreading is recorded in the magnetization of
basaltic crust into magnetic stripes that are symmetric about the ridge axis.

16- The movement of the lithospheric plates
1) 1s towards the mid-ocean ridges.
2) 1s independent of the underlying weaker zone.

3) is compensated by a solid-state flow in the astenosphere,
4) 1s parallel to the mid-ocean ridges.

17- The depth of lithosphere
1} is lower under the continents than the mid-ocean ridges.
2) varies little across the earth surface.
31 15 high in mid-ocean regions.
4) is much lower under the mid-ocean ridges than the continents.

18- The lithospheric plates are formed

1) at their boundaries. 2) under the continents,
3) during the earthquakes. 4) under the mid-ocean ridges.

19- According to the text, which of the following statements is true?
1) The asthenosphere allows the flow of hot material towards mid-ocean ridges.
2) The lithospheric plates move towards oceanic ridges.
3) The upwelling of hot magma disrupts the motion of lithospheric plates.
4) In mid-ocean ridges hot magma flows to the asthenosphere,

20- The pattern of magnetic stripes formed when the ocean floor spreads

1} 1s irregular. 2} is the same in both sides of the ridge axis.
3} 1s parailel to the ridge axis. - 4) is perpendicular to the ridge axis.

MMQL&U,)@M}'WL&)KQ"W‘,)L"&PT



¥ dande (V¥ u3) panasi g cegec b

OUzone in the atmosphere is largely confined to the stratosphere, with the maximum molecular
concentration occurring near 22 km height. The first plausible model for the existence and vertical
structure of the ozone layer was formulated by Chapman in 1930. The Chapman mechanism begins
with the photolysis of-molecular oxygen by solar ultraviolet radiation of wavelengths less than 250
nn. The atomic oxygen thus produced combines with ground-state molecular oxygen to form ozone.
The amount of short-wave radiation available for photolysis decrease downward from the top of the
atmosphere, with the most rapid rate of decrease occurring at high latitudes where the optical path is
long. Since the amount of molecular oxygen available for reaction with atomic oxygen decreases
exponentially away from the earth's surface, the production of ozone must be a maximum in a layer
centered in low latitudes at some intermediate altitade. Chapman proposed that photochemical
production of ozone was balanced by destruction through the reaction of ozone with atomic oxygen.

Chapman's scheme is now regarded as a very incomplete, but still a useful conceptual model for ozone
layer photochemistry.

21- Which of the following statements is true for the distribution of ozone in the atmosphere?
1) It 1s highly inhomogeneous.

2) It 1s homogeneous.
3) It is determined irrespective of the solar radiation.
4) It is confined to high latitudes.

22- The Chapman model begins with
1) the- dissociation of molecular oxygen by ultraviolet radiation.
2) the dissociation of ozone by ultraviolet radiation of less than 250 nm.
3) the generation of ozone by the combination of molecular and atomic oxygen.
4) the formation of ground-state molecular oxygen.

23- From the top of the atmosphere at the pole, the ultraviolet radiation available for the
photolysis of molecular oxygen |
1) reaches maximum at some intermediate altitude.
2) increases downward.,
3) becomes less abundant by decrease in altitude.
4) reaches minimum at some intermediate altitude,

24- According to Chapman mechanism, the rate of generation of ozone should be
1} maximum near to the surface of low latitudes.
2} maximum in the middle atmosphere of low latitudes.
3) minimum in the middle atmosphere of low latitudes.
4) maximum in the middle atmosphere of high latitudes.

25- Based on the fext, which of the following statements is true?
1} Chapman model gives a fairly accurate description of ozone layer.
2) The amount of ozone in stratosphere increases from equator to the poles.
3) In Chapman model, the reaction of ozone with atornic oxygen leads to an equilibration with the
photochemical production of ozone.
4) Ozone reacts with molecular oxygen to produce atomic oxygen.
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Thermal equilibrium requires net radiative forcing to vanish for the earth-atmosphere system as a
whole. Although it applies globally, this requirement need not hold locally. Net radiation implies that
low latitudes experience radiative heating, whereas middle and high latitudes experience radiative
cooling. To preserve thermal equilibrium, that radiative heating and cooling must be compensated by a
mechanical transfer of heat from tropical to extratropical regions. The simplest mechanism to transfer
heat meridionally is a steady zonally symmetric Hadley cell. This thermally direct cell is driven by
heating in the tropics and cooling in the extratropics. Although steady zonally symmetric motion can
balance radiative heating and cooling, the observed circulation is much more complex. The presence
of zonally asymmetric eddies completely alters the extratropical circulation. The asymmetric motions

transfer heat poleward far more efficiently than can a zonally symmetric Hadley cell in the presence of
rotation.

26- The net radiative forcing for the whole earth-atmosphere system is

1) positive, 2Z) negative. 3) unknown. 4) zero.

27- In general, which of the following statements is true for the net local radiative forcing?
1) It 1s negative. 2) It 1s positive.
3) It can have either sign. 4) 1t is zero.

28- Heat is transported mechanically from low latitudes to high latifude in order to

1) cool the high latitudes.

2} offset the extra radiation received at low latitudes.

3) maiotain temperature difference between low and high latitudes.
4) increase temperature difference between middle and high latitudes.

25- Which of the following statements is true for the Hadley cell?

1) It is more effective than the asymmetric motions in transferring heat poleward.
2) It transfers heat to low latitudes.

3) It is solely responsible for maintaining thermal equilibrium in the atmosphere.
4) It is only partly responsible for the balance of radiative heating and cooling.

30- In the atmosphere, thermal equilibrium is generally maintained by the action of

1) both the Hadley cell and the zonally asymmetric eddies.
2} the Hadley cell alone.

3) the zonally asymmetric eddies alone.

4) the zonally symmetric eddies alone.
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